Type <1.5
gini = 0.91
samples = 38
value=[1,6,2,1,3,1,2,3,1,1,2,3,6,1, 3, 2]

class = car
TV \Fa;lse
Width <0.5 Width<1.5
gini = 0.2449 gini = 0.9032
samples =7 samples = 31
value =[1,6,0,0,0,0,0,0,0,0,0,0,0,0,0, 0] value =[0,0,2,1,3,1,2,3,1,1,2,3,6, 1, 3, 2]
class = car class = aircraft

; ; Material £ 9.5
sam I;g 2 6 gini = 0.9088
- P samples = 25
value =[0,6,0,0,0,0,0,0,0,0,0,0,0,0,0, 0] value =[0.0.2,13 1.2.3.1.1,2.3,0,1,3,2]
class = car » U, £, ’cl’as’s;c’ar’ ,y 2,9,0, 1,0,

o T

Noise < 1.5 Type <12.5
gini = 0.8789 gini = 0.6563
samples = 17 samples = 8
value =[0,0,2,1,3,1,2,3,1,1,0,0,0,1,0, 2] value =[0,0,0,0,0,0,0,0,0,0,2,3,0,0, 3, 0]
class = car class = dish
Width<2.5 Weight<6.5 Number of wheels < 1.5
gini = 0.8264 gini = 0.6111 gini=0.48
samples = 11 samples = 6 samples =5
value =[0,0,2,1,3,1,0,0,0,1,0,0,0,1,0, 2] value =[0,0,0,0,0,0,2,3,1,0,0,0,0,0,0, 0] value = [0, 0,0,0,0,0,0,0,0,0,2,3,0,0,0, 0]
class = car class = action class = dish

Type =25 Weight < 13.0

gini=0.8125 gini = 0.4444

samples = 8 samples = 3

value =[0,0,2,1,0,1,0,0,0,1,0,0,0,1,0, 2] value =[0,0,0,0,0,0,2,0,1,0,0,0,0,0,0,0]

class = car class = stuffed
— / Weight<11.5
et g = 0.7778

_ samples =
value = [0, 0, 2, 0, (c):l,a%soécc):’a(r)’ 0,0,0,0,0,0,0] value =[0,0,0,1,0,1,0,0,0,1,0,0,0, 1,0, 2]
class = music
gini=0.75

samples =4

value =[0,0,0,1,0,1,0,0,0,1,0,0,0, 1,0, 0]
class = car

Color<4.5

Soft<3.0
gini = 0.6667
samples =3
value =[0,0,0,1,0,0,0,0,0,1,0,0,0,1,0, 0]
class = car
gini=00 Weight < 13.5
samples = 1 sgrlr?pl)l=es(,).=52
value = [0, 0, 0, 1, (c):l’a%,soécc):é(r)’ 0,0,0,0,0,0,0] value =0.0.0,0,0,0.0,0,0.1,0,0,0,1,0, 0]
class = build

e |




